[bookmark: _GoBack]
	P value
	L
	T
	W
	L × T
	L × W
	T× W
	L × T × W

	OE
	2 d
	< 0.0001
	< 0.0001
	< 0.0001
	< 0.0001
	0.3119
	0.0001
	0.0047

	
	5 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.0003
	0.0033
	0.0015
	0.1307

	
	8 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.0220
	0.7084
	0.0009
	< 0.0001

	IE
	2 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.0191
	0.0008
	0.7949
	0.0113

	
	5 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.3343
	0.7438
	0.0653
	0.0013

	
	8 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.2508
	< 0.0001
	0.0002
	0.0143

	CO
	2 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.6626
	0.0042
	0.1244
	0.0733

	
	5 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.0313
	0.0013
	< 0.0001
	< 0.0001

	
	8 d
	< 0.0001
	< 0.0001
	< 0.0001
	0.0220
	0.7084
	0.0009
	< 0.0001



